
200 DUKE ORANGE CKD 2013 <2013><CO><8141L4BC>
FRONT FORK, TRIPLE CLAMP

11013

Pos Part Number Description Additional Text Quantity

1 90101001000 FORK LEG L/S CPL. 1.00

1 90101002000 FORK LEG R/S CPL. 1.00

2 J020080273 AH SCREW M8X27 2.00

3 90101034035 TOP TRIPLE CLAMP 1.00

4 90101032000 BOT. TRIPLE CLAMP CPL. 1.00

5 90101080044 STEERING HEAD BEARING-KIT 1.00



6 90101086000 protection cap 1.00

7 90101036000 adjusting ring steering head 1.00

8 90101136000 CLAMP SCREW STEERING HEAD 1.00

9 90101031001 AH SCREW M8X30 6.00

10 90101044000 SPECIAL SCREW M8X29 SS 4.00

11 90101038000 HANDLEBAR CLAMP 1.00

12 90101039000 HANDLEBAR SUPPORT D=26MM 1.00

13 J022100643 AH SCREW M10X1,25X64 2.00

14 90101042000 WASHER 10,5X32X2 4.00

15 90101040000 RUBBER BUSHING 4.00

16 90101041000 SPACER TUBE 2.00

17 J982101253 SELF L. NUT M10X1,25 H11 WS17 1.00

18 43570624 Dirt scarper SKF 43mm black 2.00

19 43570623 Shaft seal SKF 43x52,9x11,4 bl 2.00

20 43570204 Guide bushing 43x47x12 2.00

21 48600765S1 FORK OIL SAE5 5L 2008 1.00

22 40140024 O-ring 43x2 NBR70 siliconized 2.00

40 90101007044 WHEEL CLAMP CPL. WITH PIPE R/S WITH INNER PIPE 1.00

41 90101006044 AXLE CLAMP CPL. W. PIPE L/S WITH INNER PIPE 1.00

98 90101000010 REP. KIT FORK KPL. 0.00

99 90101039010 HANDLEBAR SUPPORT KIT 0.00


